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Divisione di un numero intero Nome:
Risolvi ogni problema. Risposte
1) 632:4= 2) 20:4=
1.
2.
3.
3 799:7 = 4) 963:9= 4,
5.
6.
7.
5) 545:6= 6) 31:2=
8.
9.
10.
7) 56:2= 8) 86:2=
—_— — 11.
12.
9 435= 10) 978:6 =
11) 66:2 = 12) 718:5=
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Divisione di un numero intero Nome: Soluzioni
Risolvi ogni problema. Risposte
1) 632:4= 158 2) 294= T7rl . 158
2. /rl
3 114r1
3) 799:7=_114rl 4 963:9=_ 107 4. 107
5, Nr5
6. 15r1
5) 545:6=_90r5 6) 31.2= 15r1 ’ -
8 43
9. 8r3
10, 163
7) 56:2= 28 8 86:2= 43 " 33
12, 14313
9 435= 8r3 10) 978:6= 163
11) 66:2= 33 12) 718:5= 143r3
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